H £ 0l & AF & S

P5EHET S0 AF ARSI SXIH M}

SINESES N}

Al A

D ZMS BT (AR SN/ I =UEEH)
NASSI Zesd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S 48,668,615 47,691,196 977,419
= 29,726,364
N 739,097
= 4,877,294
Al 11,532,498
= 1,793,362
S0 ZHSSH(AMEIEX /I ZHEEE) 34,034,702 33,791,180 243,622
= 26,941,159
N 130,290
== 3,392,545
Al 3,570,708
NASSIZHEE2H 34,034,702 33,791,180 243,522
= 26,941,159
N 130,290
S 3,392,545
Al 3,570,708
NASS Aol W=l X2 21,000 24,000 23,000
301 EtE N = 21,000 24,000 23,000
02 A2 X LGS (FHAAHS, XNLWE) 21,000 24,000 A3,000
OAtZ2l u=H| XI& 300,000&*70H 21,000
SSTFHSSHIILSAE 39,600 38,160 1,440
301 LEetE2 N = 39,600 38,160 1,440
02 A EEHS(FANE, XLETHE) 39,600 38,160 1,440
O=cit S8 ssdJIes A&
5,5002*600AICH =123 39,600
(2)dAHSA 33,467,576 33,115,033 362,543
= 26,774,060
s 3,346,758
Al 3,346,758
301 EtE NS 33,467,576 33,115,033 362,543
= 26,774,060
= 3,346,758
Al 3,346,758
01 Al EE A S (2 RDEEMA) 33,467,576 33,115,033 362,543
OdA=N 33,467,576,000& x14] 33,467,576
= 26,774,060
= 3,346,758
Al 3,346,758
WESHXZ(SHEEXH) 73,016 69,690 3,326
308 AFAIEHMSOIE 73,016 69,690 3,326
08 WEJ|20UStEx 73,016 69,690 3,326
Ou=ss0 73,016,000 * 14! 73,016
(R)AHEE RS 196,374 202,661 26,287




2A:

SINESES N}

3 2D ZUELF(MSN /I ZHE2Y)
Bel: NASSIIZUEEY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 157,099
=S 13,746
Al 25,529
301 EetE2 NS 196,374 202,661 6,287
= 157,099
= 13,746
Al 25,529
01 Al EEHSES (2R 196,374 202,661 N6,287
(O FEPNI=10 196,374,000 *14] 196,374
= 157,099
= 13,746
Al 25,529
(IAIZT SEAIZ2 X 20,000 20,000 0
N 10,000
= 3,000
Al 7,000
201 er2&| 9.120 11,280 A2,160
N 4,560
< 1,368
Al 3,192
01 At2teltl 9,120 11,280 A2,160
OAtell2telAtg 28|
8,120,000 14 8,120
N 4,060
[ 1,218
Al 2,842
OSeAtdIZeIAb WSH|
1,000,000 %14 1,000
N 500
= 150
Al 350
202 04l 4,160 2,000 2,160
N 2,080
< 624
Al 1,456
01 SLHoIH 4,160 2,000 2,160
OSE At 22IAL 048I
4,160,000 *14] 4,160
N 2,080
[ 624
Al 1,456
301 LEtE NS 6.720 6.720 0
N 3,360
[ 1,008




S SXEBD
Ha: 2000|524

SEH(ARISX /I ZMEEH)
SR NASSIZHE2d EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,352
01 Al EE A S (2 RDEEMA) 6,000 6,000 0
OAtell2telti &t R X128l
500,000 * 12 6,000
N 3,000
= 900
Al 2,100
11 #AIAHIXIE S 720 720 0
OCHt &l 60,0002 «12& 720
N 360
= 108
Al 252
(2)SEAIZ2IA X 4,320 4,320 0
Xl 2,160
= 648
Al 1,512
202 0o4dl 4,320 4,320 0
N 2,160
= 648
Al 1,512
01 =LHAHI 4,320 4,320 0
O04H| 4,320
— 2L O b 20,0003 6L +3&* 122 4,320
N 2,160
= 648
Al 1,512
(2)SHs XEE SEMHIA X 168,816 168,816 0
N 118,130
= 15,193
Al 35,493
201 er2 3| 84,408 84,408 0
N 59,065
< 7,5%
Al 17,747
01 At22t2lt] 84,408 84,408 0
OS8s Atdl2telalel & 23|
84,408,000 »14] 84,408
N 59,065
& 7,5%
Al 17,747
301 LEtE NS 84,408 84,408 0
N 59,065
< 7,597




S SXEBD

3 2D ZUELF(MSN /I ZHE2Y)
Bel: NASSIIZUEEY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 17,746
01 Al EE A S (2 RDEEMA) 84,408 84,408 0
OSHS Atdl2t2|tia At K&
84,408,000 * 14! 84,408
N 59,065
= 7,597
Al 17,746
(Z)EXARRUNL =22 X2 12,000 11,000 1,000
== 3,600
Al 8,400
201 =3 6,000 5,500 500
< 1,800
Al 4,200
01 At2teltl 2,100 5,500 A3,400
O=AA A HE= 29|
2,100,000& *14] 2,100
= 630
Al 1,470
02 S3=gHl 3,900 0 3,900
O=ANSIISEAMEIAAY 23
650,000 62 3,900
[ 1,170
Al 2,730
301 EtE NS 6,000 5,500 500
= 1,800
Al 4,200
02 A2 A6 (FHAAS, NLWE) 6,000 5,500 500
OSAAZXL At X2
6,000,000 *14] 6,000
=S 1,800
Al 4,200
(Z) DS AL AOIED HAE AL 12,000 12,000 0
< 3,600
Al 8,400
201 er23| 6,000 12,000 26,000
= 1,800
Al 4,200
01 At2teltl 6,000 12,000 26,000
OLSAUIS HIOIEIIH G At
6,000,000 14] 6,000
= 1,800
Al 4,200
301 2= 6,000 0 6,000
< 1,800




2A:

SINESES N}

3 2D ZUELF(MSN /I ZHE2Y)
Bel: NASSIIZUEEY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,200
02 AR 2HHLFS(HAAS, XNLHE) 6,000 0 6,000
OLSAH & ARIAHDE 22U AKX
6,000,000 * 14 6,000
== 1,800
Al 4,200
() ASAMUL L2 AIH ALY 20,000 15,000 5,000
= 10,000
== 6,000
Al 4,000
307 212+01& 20,000 15,000 5,000
= 10,000
= 6,000
Al 4,000
11 AMISXAIEEX 20,000 15,000 5,000
ODSAOI LY 2| A AN
20,000,000 * 14! 20,000
= 10,000
= 6,000
Al 4,000
FHAHNE KB (A2SR/FHAHEXH) 5,120,312 4,830,366 239,946
= 857,664
N 406,849
= 315,095
Al 2,962,723
= 577,981
FAHSXE 5,120,312 4,880,366 239,946
= 857,664
Xl 406,849
= 315,09
Al 2,962,723
= 577,981
FHAAHSXE 226,620 200,920 25,700
201 er23| 3,500 9,760 26,260
01 At2tltl 1,700 4,600 /2,900
OS2 ARl MAIPIRS A 4o
100,0002x102*13] 1,000
OXNHARI2HE AN AFE M=
7,000 %100 700
2 S52g4l 1,800 5,160 23,360
OZAEsA MIIMEZ
150,000& «12& 1,800
301 EtE NS 156,000 156,000
02 ARSI 2 X LGS (FHAAHS, W) 156,000 156,000




2A:

SINESES I}

2 FHAANS NS (MSX/FHAASKIH)
el ot =X (12l M2
2 IE!
SA - B - SASH) - MSALY - ol &t e HIDSZ
O AS A
100,0002 *130AI Ci = 12 156,000
307 212t01 & 33,120 35,160 A2,040
012z & 2=H| 33,120 35,160 A2,040
Odleikt 2= 20,0002 x8& * 12 1,920
OgdXt BIS0=E 2=l
100,000 x20& 2,000
OAAZ X+ ZHIbI 1,600,000& *7=* 11,200
O=XIARIXICH ol & Xl
300,000& «60 18,000
401 AIEHIH 20HH 34,000 34,000
01 AlZ28| 34,000 34,000
OLAIES A (HeISEA) EHSA
34,000,000 * 11 2 34,000
NSAtel XS 134,960 136,110 A1,150
201 Let=d] 33,600 32,750 850
01 AlR2teldl 33,600 32,750 850
OXNS A2 2EH & AlZ 0 Ol
10,0003 * 150 1,500
OUXIE KNSAIZHAIE AIYAZ I
10,0002 * 1505 1,500
OAt2I=Xl € 22 RS 4 M
100,000 *40H 4,000
OAtzl=Al 2= & &% M&
70,0002 *20K 1,400
OXGASI2HE AN F22l 4+
100,000& +60E +42] 24,000
OEFARISAE 2?23 22 =&
100,000& 6 & =22 1,200
301 EtE NS 3,360 3,360
02 A2 HGS(FAAS, NLHA) 3,360 3,360
O INSAI2HE AN SAA =&
140,000 <2+ 122 3,360
307 @I2t0| & 98,000 100,000 /2,000
11 AMISXAIEEX 98,000 100,000 A2,000
020268 XS XIHABISEAHE =8 KI&(
2SXE ) 5,000,000& *14] 5,000
OF2=E EsSAAHE XE(2xs 3Y)
15,000,000 » 14 15,000
OZFAl AIZIS XA 225 ARG (EEE 9
%) 8,000
— A= XA st=i=] JHE
4,000,000 *14] 4,000
—AEISXIAL] & A
4,000,0002 *14! 4,000
OMEBIEXIA BnSH| NY(EX8 FH)
56,0002 x250 14,000




2A:

SINESES I}

HE: FOOIS KB (AMEI=XI/FHAHERIR)
CHol: HoEX| 2 CERL
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OLFAl AEISXIAL 3tE SOt (BX2E &
o) 5,000,000 %141 5,000
ONANSIBHEAN A2 LBH(2EE X
o) 21,000,000 * 14 21,000
OXIZAS] SXIHs(EX8 FA)
5,000,002 14! 5,000
SHENCEWCEREIEES 1)
10,000,000& » 14 10,000
Ostirs tal(2xs dN)
10,000,000& * 14! 10,000
O3 LY LIsYeHH (0ISHIE)AFE IR (
SXg ZH) 5,000,000 * 14 5,000
(B)2==X 1,072,080 1,072,080 0
= 857,664
< 107,208
Al 107,208
301 2P EN= 1,072,080 1,072,080 0
= 857,664
=S 107,208
Al 107,208
01 Al EE AL S(FRDEXHA) 1,072,080 1,072,080 0
OAZ=X XA
1,072,080,000& x14] 1,072,080
= 857,664
=S 107,208
Al 107,208
(ZIAEI =SR2 SSHAY 20,000 20,000 0
< 6,000
Al 14,000
307 elztol & 20,000 20,000 0
= 6,000
Al 14,000
11 MEISXAEEXS 20,000 20,000 0
OAt2S 12 StArY
20,000,000 * 100 £ 20,000
= 6,000
Al 14,000
()XSEXEE MIIMHIASERIALS 365,310 365,310 0
N 284,248
= 35,531
Al 35,531
201 ger=3| 2,000 2,000 0
Xl 1,600
= 200
Al 200




2A:

SINESES I}

B FoE N (ABI=/HAHSTR)
=t FHUASKE (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 2,000 2,000 0
ONAS] HHIASTIAY 2|
2,000,000 %14 2,000
N 1,600
< 200
Al 200
307 elztol & 363,310 363,310 0
N 282,648
[ 35,331
Al 35,331
05 2ItRIE =2 363,310 353,310 0
OXIAS] HHIASTIAI
353,310,000 x 14 353,310
N 282,648
< 35,331
Al 35,331
A2l =X22d 1,022,380 1,049,991 A27,611
307 elzto| & 1,003,570 964,541 39,029
05 21t =S 1,003,570 964,541 39,029
OAtel= A2 23]
1,003,570,000& * 190 2 1,003,570
401 AlZHIZ SO 18,810 85,450 \66,640
01 A28l 18,810 85,450 266,640
OSX2 JIsE2 - BIHE2E4+3At
18,810,000 * 14! 18,810
MHAOIME! 15 &S 360 360 0
201 er23| 360 360
02 S5=2g4l 360 360
ON1==NSSTEEZAIAE SHEI| AS
= 30,0003 x 122 360
(DIHMASE ALLEH2 XA 560,000 570,000 /20,000
=S 50,000
Al 50,000
= 450,000
301 EtE N = 550,000 570,000 /20,000
= 50,000
Al 50,000
= 450,000
02 MBI 2HHSFHS(HAANS, XLHE) 550,000 570,000 /20,000
OMASE 2YPE2 U BIIQUYPHE
A& 550,000,000 x 14 550,000
= 50,000
Al 50,000
= 450,000




M SXEHL

HE: FOOIS KB (AMEI=XI/FHAHERIR)

CHol: HoEX| 2 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(D)X 2T EAM 2SN 185,318 180,611 34,707

= 10,000
Al 90,000
= 85,318
307 212+01& 185,318 150,611 34,707
< 10,000
Al 90,000
= 85,318
10 Al SXA2EE 22X 185,318 180,611 34,707
OXIG A2 HE oM 22X 147,318
—QI24H| 137,318,000 * 14| 137,318
& 10,000
Al 90,000
= 37,318
— AR a2l 10,000,000 * 14| 10,000
= 10,000
OSHS NFA2EE2AN 435t
2,000,000 * 1994 2= 38,000
= 38,000
(E)=Z=W3 X2 27,163 27,163 0
== 2,400
Al 9,600
= 16,163
307 el2to| & 27,163 27,163 0
S 2,400
Al 9,600
= 15,163
10 Al2ISIIAIEEE 22X 27,163 27,163 0
OJI=ZCd3 =2
27,163,000 * 14 27,163
S 2,400
Al 9,600
= 15,163
(S)ERTIoA 25 X 30,500 25,000 5,500
= 3,000
= 27,500
307 @20l & 30,500 25,000 5,500
s 3,000
= 27,500
10 Al SXAEEE 22X 30,500 25,000 5,500
OgxIloiAt 25 X2
30,500,000 * 11 £ 30,500
< 3,000
= 27,500




M SXEHL

B FHOS TR (MESX/FHAANSH)

CHol: HoEX| 2 (SHol: )
SA - B BRA(SH) - LA - BES of v e HIDE2
SXZ0FAIE 2RI HH| X (M EAY) 1,161,600 992,640 168,960

301 LEtE N = 1,161,600 992,640 168,960
10 AR=R22as 1,161,600 992,640 168,960
O=XNZ0k=22E30 X3
1,210,000 «80H * 12& 1,161,600
(Z)ASI S X Z A2 AH2 S X2 72,000 67,200 4,800
s 21,600
Al 50,400
307 212+01& 72,000 67,200 4,800
< 21,600
Al 50,400
10 AlRISTIAIEEE 22X 72,000 67,200 4,800
OAMEIEXI2 At 22t 2SR
72,000,000 x 14 72,000
= 21,600
Al 50,400
(SIAMBISXAE S AR 31,920 36,280 23,360
=S 9,576
Al 22,344
301 LEtE NS 31,920 35,280 A3,360
< 9,576
Al 22,344
02 MBI 2HHSFHS(HAANS, XLHE) 31,920 35,280 A3,360
OAISISRIAIE AL =2
140,000 x 198« 12& 31,920
= 9,576
Al 22,344
Aol A2dsg X3 12,000 12,000
301 EtE2 NS 12,000 12,000
02 AR 2HHLFS(HAAS, XNLHE) 12,000 12,000
OAtgel AZSg XA
1,600 %502 *150H 12,000
(R)LaSSMHIA 117,200 105,709 11,491
Xl 93,760
=S 1,720
Al 1,720
201 et 3| 3,000 3,000 0
N 2,400
= 300
Al 300
01 AtR2t2|HI 3,000 3,000 0
OYMSZAHIA 22|
3,000,000 *14] 3,000
N 2,400




2A:

SINESES I}

HE: FOOIS KB (AMEI=XI/FHAHERIR)
CHol: HoEX| 2 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 300
Al 300
307 elztol & 114,200 102,709 11,491
N 91,360
< 11,420
Al 11,420
05 2IIRIE =3 114,200 102,709 11,491
OgassAtlA 114,200,000 * 14| 114,200
N 91,360
== 11,420
Al 11,420
(T)EBEMISXNZBANSXNZAERRA 2,850 2,100 750
= 855
Al 1,995
307 elztol & 2,850 2,100 750
= 855
Al 1,99
1 AMISXAEEXS 2,850 2,100 750
OAISISXIAEEANSXNEZAEXH
150,000 19 2,850
== 855
Al 1,995
(D)W +=01= s=2+& X 50,000 50,000 0
= 50,000
302 OI==H a2 &= 50,000 50,000 0
== 50,000
02 Lol =1es2d= 50,000 50,000 0
ONeli==ll= s=S+=H N
50,000,000& x 14 50,000
= 50,000
(IXNGTEE ASIMHIA FHtX] XA 36,051 0 36,051
N 28,841
[ 3,605
Al 3,605
307 glztol & 36,051 0 36,051
N 28,841
== 3,605
Al 3,605
11 AMRISXAEEES 36,051 0 36,051
OXSTEE MalMHIA FHEXl RIE A
36,051,000 *14| 36,051
N 28,841
s 3,605
Al 3,605




2A:

SINESES I}

M FUHS N (MISX/FHLHESKH)

CHol: HoEX| 2 (SHol: )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
(Z)HBI| XISAISI SEAHE ASIZEE T AL 12,000 0 12,000

& 3,600
Al 8,400
207 AR H| 12,000 0 12,000
& 3,600
Al 8,400
01 HA72=29| 12,000 0 12,000
ONBIl XIGAIS| EHHIE! At2| S EA
12,000,000 * 14! 12,000
T 3,600
Al 8,400
NASE MEHY XA (AISISXI/II=MEBE) 2,647,459 2,556,706 90,753
= 1,927,541
Xl 88,192
& 145,738
Al 455,988
= 30,000
KA 2,647,459 2,556,706 90,753
= 1,927,541
Xl 88,192
T 145,738
Al 455,988
= 30,000
22 AL 15,410 12,770 2,640
201 LB-2AY| 14,600 11,960 2,640
01 At=R2teld| 14,600 11,960 2,640
OYEXATIZHE AISA AXE X2
1,100,000& =123 13,200
OXr2 )| 22N *d =5
100,000& 7 E*23| 1,400
301 LPBNZ 810 810
11 HAAHIXIE S 810 810
OXr& g Alatal ZA0|
90,000 x9H 1 810
()22 A 1,700,495 1,521,404 179,091
= 1,360,3%
& 68,020
Al 272,079
101 2124 d| 180,000 180,000 0
= 144,000
= 7,200
Al 28,800
M IIRINZ2EXSEs 180,000 180,000 0




SH: =NEMY
M NASES Mol NJ(MIASK/OIZNEEH)
chelr XAk (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O22SNE, 2XNC20| HE2ZAIY o
rals] 750,000 x20H 123 180,000
= 144,000
[ 7,200
Al 28,800
206 M=l 2,000 1,800 200
= 1,600
[ 80
Al 320
IEET 2,000 1,800 200
OZERNE NE2ZAY ME|
125,0003 %1694 A 2,000
= 1,600
< 80
Al 320
307 glztol & 1,518,49% 1,339,604 178,891
= 1,214,7%
== 60,740
Al 242,959
05 2ItRIE = 1,518,4% 1,339,604 178,891
OMASE NHE22AY 29
1,518,495,000& x14] 1,518,49%
= 1,214,7%
== 60,740
Al 242,959
)L SIS XS 8,000 0 8,000
= 6,400
== 480
Al 1,120
301 2= 8,000 0 8,000
= 6,400
S 480
Al 1,120
01 ARRI2HHSFS(FNERTH) 8,000 0 8,000
OXEgd3XES X
8,000,000 * 14 8,000
= 6,400
S 480
Al 1,120
()X 2dEe 2 368,702 340,591 18,111
= 230,092
= 29,583
Al 69,027
= 30,000




2A:

3 ﬂi%% MEOHY X (MBS ZHE82E)
chelr XAk (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 368,702 340,591 18,111
= 230,092
== 29,583
Al 69,027
= 30,000
10 Al SXAAEEHE 22X 368,702 340,591 18,111
OXg e 29 X&
368,702,000 * 11 2 368,702
= 230,092
= 29,583
Al 69,027
= 30,000
(XS TS E M MHIASTIAIS (OARIHSZ X ) 96,352 101,352 /5,000
N 77,082
< 9,635
Al 9,635
307 glztol & 96,352 101,352 25,000
N 77,082
s 9,635
Al 9,635
05 2IR”IRIE = 96,352 101,352 25,000
OJtARYE SE2XIZ AL
96,352,000 * 14| 96,352
Xl 77,082
=S 9,635
Al 9,635
(S) KSR 2HEHEA RS 10,080 10,080 0
< 3,024
Al 7,09
301 EtE NS 10,080 10,080 0
= 3,024
Al 7,0%
02 ARSI X LGS (FHAAHS, NSWE) 10,080 10,080 0
OXNS e SAEL =&
140,000 x6& * 122 10,080
=S 3,024
Al 7,0%
(D)X 2HEHBAMR=SRZAER R 900 600 300
< 270
Al 630
307 elztol & 900 600 300
= 270
Al 630
1 AMEISXAEEXS 900 600 300




2A:

3 ﬂi%% MEOHY X (MBS ZHE82E)
chelr XAk (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNS TS HHEANESXNEZAEXA
150,000 6% 900
= 270
Al 630
(D)L SAIEHIXIR 28,333 25,000 3,333
== 8,500
Al 19,833
307 212+01& 28,333 25,000 3,333
[ 8,500
Al 19,833
10 AlRISTIAIEEE 22X 28,333 25,000 3,333
OX&EdatArddl XI&
28,333,000 * 100 2 28,333
= 8,500
Al 19,833
(D)2EssJAsSMAE2SXR 413,316 544,909 131,593
= 330,653
= 24,798
Al 57,865
307 elzto| & 413,316 544,909 131,593
= 330,653
S 24,798
Al 57,865
05 2IMRIE =3 413,316 544,909 A131,593
OZRSAASHSNA LS (T
M) 413,316,000 x 14 413,316
= 330,653
< 24,798
Al 57,865
(2)XtE At 2k 15,871 0 15,871
N 11,110
< 1,428
Al 3,333
307 elztol & 15,871 0 15,871
N 11,110
== 1,428
Al 3,333
10 Al2ISTIAIEEE 22X 15,871 0 15,871
OXt At 22l X2
15,871,000 * 14| 16,871
N 11,110
== 1,428
Al 3,333
IHEE 2ALl(MASA/EE) 4,140,518 3,711,617 428,901




SN SX™HD
= 3 t2E 2el(MESX/28)
o2l BE2d8X3 (EEEE))
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 997,570
Al 2,044,948
= 1,098,000
PE2HHXE 4,140,518 3,711,617 428,901
S 997,570
Al 2,044,948
= 1,098,000
SEHA 2 Ald2e 562,748 585,087 N22,339
101 e124d| 2,408 2,367 4
M4 JRHHZ2Z2XSE+ 2,408 2,367 41
OEEE #3FY A=Y
10,0302« 1 *4A| 2060 2,408
201 Zet2& ] 86,640 69,340 17,300
01 AtR2telbl 43,700 35,900 7,800
O=EHH AR Xtz X2
320,000 54 &t Xl = 128 19,200
O8sAME(Z5EE)+S EH
4,000,000 32! 12,000
O SAL(SEE)MEY Xtz
250,000 #200H 5,000
O8sA4d |1 A2F4|
100,000 * 102 1,000
OFEREXA AW M
70,000& #5071 3,500
OE&HH 822 HM& & JIEt =84l
3,000,000 *14 3,000
02 3224l 11,440 11,440 0
O=clE 22k= 120,000& x 122 1,440
OE2z2 & SEFAIE &8l =Abl
10,000,000 x 14! 10,000
03 A2 31,500 22,000 9,500
OSse =8dM 13,000,000& * 14! 13,000
O&LE JIgdAM 5,000,000 * 14! 5,000
OZEZ JIgdM 5,000,000 = 14! 5,000
O=sg 2l sotA
3,000,000 *14] 3,000
O6.253I |18 HALL =20
1,500, 000& 14 1,500
O==dgo & A
4,000,000 14! 4,000
206 =4I 1,000 1,000
01 =4l 1,000 1,000
OESAE S8Z3HE 8l &€ &5 7Y
25,0002 «105+43] 1,000
301 22N = 114,400 117,080 22,680




2A: SXEA
M IIEE 22 (MI=X/EE)
o 22X (St &)
= - q LS
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
11 HALAHIXIEZ 98,400 101,080 A2,680
O sg A 2] 14,000,000 & * 14! 14,000
Ot E JIg&AL 2]
3,000,000 14 3,000
OZ=& J|E&A 2|
3,000,000 14 3,000
OSsE 2 Setal 2|
1,000,000 14! 1,000
06.25 SIVIHE HALL =2H &bl
2,500,000 14 2,500
O ZgAL 2t &4 o]
90,0002 *30H 2,700
Os=EE9 & =8I HU(2S4=H|)
90,0002 *160H *13] 14,400
OB ZHAX MK =2l(2=4THAl)
90,0002 *160H 13 14,400
OBLEAMN 2 U oH2olAl HI DS (Y
SEEXNLS]) 90,000 x602 *13] 5,400
CB.58MRBA £2 L oHPolA HFWF(
6.25&M2BXS)
90,0002 *100F *13] 9,000
OO0I=5E 21 BRI #A
90,000 *45H *13] 4,050
OFAMEZOlg HEHE WS
90,000 *160H * 13| 14,400
O&=3 dFA =d
90,000 *30H *23] 5,400
O=E=2sIt &2 Y A
90,000 *35H *13] 3,150
06.25 Ht2elD| s
2,000,000 14 2,000
14 JIEt2 43 16,000 16,000 0
OHEY =LA 25 7Y
5,000&*2,000Z 10,000
O6.258AL 2IEE 7Y
30,0003 *200 6,000
307 gI2tol ™ 338,300 324,300 14,000
03 QN HE2GHIE X 195,000 173,000 22,000
053 I=S3HEXlz 29| XA (L
T2 HNH) 2,750,000 42| 11,000
OA0I12d3 IFAIKIE 29| XA (BX
2 IH) 5,500,000 *4ZJ| 22,000
OFEZEREF3 IFAXIE 29| XI2(
SEXg FH) 5,500,000 *4=2 J| 22,000
Ods=30I12els| HF=AIX3 23| K&
(2x8 FH) 5,500,000 *4= 7| 22,000
OR3+EX3 I=AIKZ 29| X3 (L
g FH) 5,500,000 *4ZJ| 22,000
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SN SX™HD
I 3 t2E 22l (AlREX/28)
&t 228X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 13,370
Al 31,200
(E)BHERSNLRIES0= 1,996,800 1,731,960 264,840
= 898,800
= 1,008,000
301 EtE NS 1,996,800 1,731,960 264,840
=S 898,800
= 1,098,000
02 ARSI 2E A S(FANS, XLETHE) 1,996,800 1,731,960 264,840
OFHRSA S0l+=E(6.25)
487,800,000& x14] 487,800
< 208,800
= 279,000
OHHRD Yol+L(BY)
1,305,000,000& » 14} 1,305,000
< 522,000
= 783,000
ORIIE HU+Y(HSTIRE)
168,000,000 * 14! 168,000
< 168,000
OFVRBT A2
300,000 x10E* 122 36,000
= 36,000
22U 1,119,000 1,095,000 24,000
301 EetE NS 1,119,000 1,095,000 24,000
02 ARSI SEHS(FIANE, XLETHE) 1,119,000 1,095,000 24,000
O=22dll=¢ A& 1,119,000
—SEHAI o<
100,0002 x020H 123 1,104,000
— 22U MHERES
300,000 %50 15,000
At2et BRI LA SX=E 285,000 255,000 30,000
301 EetE NS 285,000 255,000 30,000
02 ARSI SEHS(FIANE, XLETHE) 285,000 255,000 30,000
OAtZet SERSA I SX=E 285,000
—HH A =K==
50,0002 x450 < 122 270,000
—HRX MERIZS
300,000 %50 15,000
(D222 65,400 0 65,400
== 65,400
301 EtE N = 65,400 0 65,400
= 65,400
02 ARSI 2E AT S(FIANS, XLETHE) 65,400 0 65,400
2R+ 65,400,000 * 14| 65,400




2A:

M DIBE 22 (MIEX/28)
el 22X EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| & 65,400
(S)6. 258 M| B AL 67,000 0 67,000
= 20,000
Al 47,000
307 Q1201 & 67,000 0 67,000
= 20,000
Al 47,000
11 MBI SR AL E X 67,000 0 67,000
06.258 X | S AL 67,000,000 *14! 67,000
== 20,000
Al 47,000
HYSAAH(SXZHD) (JIEHIIE) 448,618 437,875 10,743
Xl 113,766
= 26,346
Al 221,125
=S 87,381
ol 2| 319,530 304,699 14,831
Xl 113,766
= 26,346
Al %,037
= 87,381
(R)SEALIZ2IAKIR (21248]) 159,977 150,177 9,800
Xl 51,498
== 15,449
Al 36,049
= 56,981
101 Q1248 136,604 128,286 8,318
)\ 41,620
= 12,486
Al 29,134
= 53,364
0B SR (IH ) 222+ 136,604 128,286 8,318
OSEAZ2IAF Q124H] 136,604
—-JI123 85,799,000 * 14! 85,799
Xl 40,178
== 12,053
Al 28,125
= 5,443
— A2t 224 15,959,000 @4 * 14! 15,959
Xl 1,442
[ 433
Al 1,009

I

13,075




A SXNEH
3. AY2IIH(SNEHD) (OIEH/IIE
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—3d==+¢ 6,015,710 14 6,016
= 6,016
—SEFOHI 10,724,820 * 14| 10,725
= 10,725
—JtE=g 3,840
- <Xt 40,0003 x2&* 123 960
= 960
- JIEHEHMAHA 28)
30,0002 28 * 122 720
= 720
= PUE] 70,0002 x1& x 122 840
= 840
SR AHA 110,000 x1&* 122 1,320
= 1,320
—eIRRE R
125,0002 x3& » 15 5,625
= 5,625
—gAZALI 140,000 x32* 12 5,040
= 5,040
—SE x| 100,000 x3&* 123 3,600
= 3,600
WM HsEE=S 23,373 21,891 1,482
N 9,878
< 2,963
Al 6,915
= 3,617
04 R (RIHA)22N BEESRES S 23,373 21,891 1,482
Oou=2g=s 17,613
—SEAtdZelAl ZeHE RS
170,000 3 * 122 6,120
Xl 3,060
= 918
Al 2,142
—SEAtdZeIA EIXSH SEE
11,493,000 * 14! 11,493
Xl 3,938
= 1,181
Al 2,757
= 3,617
OS2l A2 FE=
160,000 x3&* 122 5,760
N 2,880
= 864
Al 2,016




2A: SXEA
A HERHHHI(SXIZD) (OIEHIIE)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
ol 23H| 51,318 50,637 681
101 2124 d| 51,318 50,637 681
03 SR (RIHL) 22X 51,318 50,637 681
O2AESA(HeIYA 22l 51,318
=J|I2= 2,338,270 x1F +12& 28,060
—HEFOHHI
2,338, 2703 *75%*1H *23| 3,508
—H34g 2,338, 2702 %50+ 1223 2,339
— AR RRAY
14,6762 x150%+ 15A1 2t 1H + 123 3,963
IR
17,4083 *150%* 12 x50 8,806
—eiRRE R
117,408 x 15+ 15 1,762
—Z Mg Al 140,000 x1H 123 1,680
—WSE2AH| 100,000 x 1= 123 1,200
(Z)o2Z3 0 22| AFE (2124d]) 108,235 103,885 4,350
Xl 62,268
& 10,897
Al 4,670
= 30,400
101 21| A,960 91,166 3,7%
Xl 51,648
& 9,039
Al 3,873
= 30,400
03 SRH(RINHS) 22X 2+ A,960 91,166 3,7%
OPI== 2,350,000 x2F +12& 56,400
Xl 45,120
& 7,8%
Al 3,384
OAlIZtel=¢ 340,000 x2F « 12& 8,160
Xl 6,528
& 1,143
Al 489
Oflz=0&2IAt SEFOt|
2,350, 000& *75%+2 B +23| 7,050
= 7,050
o3z 2,350, 000 *15%+2 H +23| 1,410
= 1,410
OFAZ Al 140,000 x2H 123 3,360
= 3,360
OnsE x| 100,000 x2Z*12& 2,400
= 2,400




2A: SXEA
A HERHHHI(SXIZD) (OIEHIIE)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OJt=+g 120, 0002 +22* 23] 2,880
= 2,880
OAXRBEINTY
130,000 2 15 3,900
= 3,900
(O GE= 2,350, 000& *50%*2 H *43] 9,400
= 9,400
M HAIRE3S 13,275 12,719 556
Xl 10,620
& 1,858
Al 797
M SRE(PIHS) 22X 28282 S 13,275 12,719 556
Of|ga¢ &AL 20IHZ 22
170,000& 2B+ 122 4,080
Xl 3,264
& 571
Al 245
Ool2B0RRIA EREES
220,000 x2F *12& 5,280
Xl 4,224
& 739
Al 317
Oflz=02eAL AL EE R2EZ
163, 125 x2H + 128 3,915
Xl 3,132
& 548
Al 235
234 129,088 133,176 A4,088
J|=2Z&| 129,088 133,176 A4,088
201 Let23H| 36,728 34,7% 1,932
01 At 22|l 36,728 34,7% 1,932
OSAISX 28I(M)
20,0003 #2352t A% 12E 5,520
OSZ201Alt| 9,000 ¥7A1+23H « 12& 17,388
Ogiteg 100,000& 123 1,200
OAAE T 50,0002 12& 600
OAx7RE =4l 9,260
—SADI(THE) =2
1,000,000 *1.504 1,500
—ZElEI| =2l
100,000& *4CH*50/100 200
—SAD| EY 200,000& *53|*1.5CH 1,500
—IZEIHI|(EY) EU
200,000& 53] #4CH 4,000




S SXHBD

A HYRIAZH(SXFHMW)(OIEH/IIE

&t JI=Z

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ZelEl(Ze) &
200,000 +52]*1CH 1,000
—PC==2l 100, 0002 *23CH*20/100 460
—JEr2IHI 50,00021* 122 600
OJIE A2l
10,0002 »23F 122 2,760
202 04l 85,560 91,080 A5,520
01 =LHA LI 85,560 91,080 A5,520
OZLH0AH] 20,0002 x23E 12 122 66,240
OZ2|0t| 120,000 x23H 7 19,320
203 =4l 4,800 4,800
M EASHLRFAH 4,800 4,800
ORKNSgERF=AHI
400,000 123 4,800
204 ARt AH| 1,200 1,200
01 MG AR A HH] 1,200 1,200
ORI S LAY (SNZHUR)
100,000 13| x 122 1,200
405 AtatsE = 800 1,300 A500
01 TR ESFSHI 800 1,300 A500
oolsAgZ 2y 800,000 1K 800
eSS (SXNHML) (AMSISX /I ZHE2H) 2,277,006 2,313,452 A36,446
WA XIE 2,277,006 2,313,452 N\36,446
WA XIE 2,277,006 2,313,452 N\36,446
701 JIEtRI NS EHES 2,277,006 2,313,452 N\36,446
01 JIEt=I AN ES 2,277,006 2,313,452 N\36,446
O22=20 X ZH(XLHIRZH)
2,277,006,0003 14! 2,277,006




